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18U/119/25(Set-1)

No. of Questions : 180

9yl B w180
Time : 2 Hours | [ Full Marks : 450
Y 2 g2 ] [ qoifg: 450
[nstructions :
fardr :

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under :

U8 Y¥E-T3 dgfededy ye oX omnfa & o q1 @vel (1 U9 1) # e g ot

fr M3 ol 2

(a) Section - I consists of 120 Objective Type Questions on General Awareness,
in some major subjects.

(@) @vs - 1 ¥ 120 sgReeia 7w €p 5ed RAvdl & 9w 71, ® SR
g

(b) Section - II consists of 30 Objective Type Questions on (I) English
Language and (IT) Hindi Language.

@) @ve - 11 ¥ 30 sgfwada gvd (1) Sl e o (1) =) 9151 & s W
SR € |

A candidate is required to attempt as many questions as he/she can of

Section— I and Questions on ANY ONE of the TWO Language papers

(I) English OR (II) Hindi in Section ~II.

anell @ s & f @oE - 1 @ @ve - 11 @ (D) sieh @ (D B o 579 @

iR Tl B e FW |

(3) S
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18U/119/25(Set-1)

Note/T12: (1) Altemp! as manv questions as vou can. Each question carries 3 (Three)
marks. One mark will be deducted for eaclt incorrect answer. Zero mark

will be awarded for each unattempted question.
TS To BT T B B G B WP w95 3 () 3w 5 8
Fl® Toid Go% @ [y v& 3@ @rer S| e Heeiia uee @ e
¥ B

(2) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.

o} Toioe dafoud IR TH TR B Awe ydd & o Heegd w8 -

q |
SECTION -1
Qe -~ |

1. Landrace is breed of :

(1) Horse (2) Pig (3} Camel {(4) Donkey

BN T &

(1) €L & (2) Gar N (3) @e (4) a1 A
2. In the liver alcohol is converted to :

(1) Caffeine {(2) Acetone (3) Acetaldehvde (4) All of these

aFa W Hewiwd gfkafdd e & :

(1) %1 H (2) THiEH # (3) oRrefosezs % (4) g9 @it 4
3. Browning of cut fruits occurs due to the activity of enzyme :

(1) Peroxidase (2) Catalase

(3) Polyphenol oxidase (4) Alcohol dehydrogenase

B BT Bell @1 WR19 0 torga B B AR & awor dar & 2

(1) uiEdfisH (2) HaTew

(3) drefwie sifafies (4) FedplEd Bagefinr
4. Beer contains following percentage of alcohol -

(1) 5% @ 20% (3) 25% (4) 40%

dfax ¥ arewred @ B i g &

(1) 5% (2) 20% (3) 25% (4) 40,

(4)
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18U/119/25(Set-1)

5. Red colour of tomato is due o ;

(1) chlorophyll (2) xanthophyils
(3) lycopene (4) None of these
THER @1 AT T Bl @

(1) FARfBA S HWOl (2) S=fifber & HROT
(3) TEHEERA B DR (4) ¥ 9 B3 FE

6. Carrotisrichin:
(1) beta carotene (2) thiamine (3) vitamin D (4) vitamin E
Mo A YR "1 H U ST g
(1) der s (2) TormmTgE (3) faefim @ (4) fef= 2

7. Spinach leaves are rich source of which of the following mineral ?

(1) Fe (2) Ca (3) K (4) Na

Yo &1 el fE d W fRe wfaa @ ueR w2 0

(1) ImaA (2) @evTgH (3) ureferam (4) GifezH
8. Following preservative is used in Jam preparation :

(1) Sodium benzoate (2) Sorbitol

(3) KCN (4) None of these

o 2 dard A A= ofvers ya g S @

(1) @feaw §Age (2) wifdeia

(3) & ¥ T (KCN) 4) g7 @ B T
9. Pectin is having following chemical nature :

(1) monosaccharide {2) disaccharide

(3) polysaccharide (4) None of these

afFeq & B Tarafas g gl 8

(1) TAHPET (2) TEEBEE

(3) OiARIANIES (4) 39 9 g A6l

(5) P.T.O.

collegedunia
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18U/119/25(Set-1)

10. Golden rice variety is rich in:

(1) Vit. B-12 (2) Beta carotene  (3) Lysine (4) Arginine
Megd wgd fBer A geR wran A qrr e 8
(1) fefm @12 ) S @da (3) g (4) SrAATE
11. Cow milk is yellow in color due to the presence of :
(1) Riboflavin (2) Xanthophenol
(3) Beta carotene (4) None of these
a1 qu e 3 9 fead) gulefd & dwor o1 § drer B @ ?
(1) wrgamafas (2) SiFe T
(3) dier A (4) 399 @ &3 78!
12. Lactometer is used for detection of quality of :
(1) Milk (2) Water (3) Soup (4) Juice
Ageriier & gar o § fewe o & war dTE @ v e @ @ 2
(1) q& (2) i (3) Y (+) [
13. Fat content in cow milk is :
(1) 4-5% (2) 5-6% (3) 6-10% (4) None of these
A B Y W A FT S BT 8
(1) 4-5% (2) 5-6% (3) 6-10% 4) 399 9§ TF 4
14.  Paneer is obtained by :
(1) acid coagulation (2) flocculation
(3) homogenization (4) hydrolysis
U= gy fwar wrer &
(1) 37 ®pea gRT (2) U g™
(3) THHUAT g1 | (4) T ITEEH R

15.  RTS beverage contains following TSS :

(1) 10% (2) 20% (3) 25% (4) 30%

IR S GNP AT T B

(1) 10% (2) 20% (3) 25% (4) 30%
(6)

collegedunia
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16.

17.

18.

19.

20.

4

Refractometer 1s used for analysis of :
(1) TSS

(3) moisture

Rebgeriier & wan v omer 2

(1) & T8 T & Rz &g

(3) ¥ @& e &g

18U/119/25(Set-1)

(2) ash content
(4) fat

(2) =T B HE B fAveTT 8q
(4) Fa1 & fvewm Bg

Kjeldahl apparatus is used for determination of :

(1) fat (2) protein

(3) moisture (4) Ash

Sreerd STEw &1 A e fAuirer 2g far s @ 2

(2) 9=

Citric acid is produced by :
(1) Aspergillus niger

(3) Psendomonas

arsfe® RS Se~1 g & ¢
(1) TGy AN ENT
(3) TEIHFART ERT

Cheese is produced by :
(1) Penicillium sp.

(3) Lactobacillus

Tk IUH BT & ¢

(1) girferaq o ZIRT
(3) AFIEeTd ¥

Pizza contains following cheese :
(1) mozzarella cheese

(3) both (1) and (2}

oo & et iR BT &

(1) AR TR

(3) (1) @ (2) &

Building block unit of DNA is :
(1) neucloside

(1) 991

(3) neucleotides

& g v & faior @og A a1 2

(7)

(3) == @) &

(2) Bacillus sp.
(4) None of these

(2) e o grr
(4) 378 | &1E 8

(2) Bacillus sp.
(4) All of these

(2) W@om
(4) 3% | W

(2) ricotta cheese
(4) None of these

(2) Ra#rer iR
(4) 378 | BE TE)

(2) ribose sugar

(4) purine and pyrimidine bases

(2) TFET R
(4) IR 1@ TaRMEH T4

P10,
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18U/119/25(Set-1)

22,

23.

24,

25.

26.

27.

28.

Proteases are used for degradation of :
(1) Polypeptides (2) Fals
mferad @ ST fews e g fem S @ ?

(3} Carbohydrates (4) Nucleic acids

(1) deiNEss (2) @ (3) PEREEST () URTE THeS

Cryopreservation is done at a temperature of :
F=fary Hearor famam e & -

(1) -14°C 9= (2) -196°C I (3) 0°CWR (4) -2°C 53

Bacteriai growth occurs maximum at temperature of :

SNar gfE fReam aomm w sfdeas g @ 2

(1) 20°C (2] %€ (3) 100°C (4) 37°C

Which of the following contains highest amount of Vit. C ?

(1) Aamla (2) Carrol (3) Spinach (4) Ginger

e 3 9 e waa @fe a0 4 Refa & @ e ?

(1) aifaar (2) il (3) dreidp (4) 3w

Which of the following is a fermented product ?

%e ¥
= ey U

YiTh

(1) curd (2) vinegar (3} cheese (4) All of these
=1 5 9 @t e s & ?

(1) <& (2) Rawa (3) TR ()

Which of the following is Polyunsaturated Fatty Acid (PUFA)

(1) palmitic acid (2) butyric acid

(3) arachidonic acid (4) None of these

Frer & @ ®F-s uffer siciqer wn sl (qw) & 2

(1) uafafes s (2) @feRae TRis

(3) waTgSIE URis (4) T 9 @id TH

Castor seed are rich in:

(1) Arachidonic acid (2} Oleic acid

(3) Linolic aad (4} Linolenic acid

IRUST b AT H YR AT H U T 2

(1) WraEe™® ar (2) anfergm o

(3) femifars s () e s
(8)

—
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29.

30.

31.

32.

33.

Pepltide bond is present in :
(1) carbohydrate (2} fat
Tergs dvg HioE & €

(1) FEfegge 4 (2) T

Acid value is used for determination of :

(1) Fatty aad (2) Protein

18U/119/25(Set-1)

(3) protein (4) None of these

(3) W A (4) T F B3 )

(3) Enzyme (4) All of these

e HF ®1 g e 3 oo fuior &g faar o 8 °

(1) Tdmard & (2 WA &

Papain and bromelain are used in :

(1) beverage industry

(3) meat induslry

qurgs U ariie @1 v fear W E

(3) T TEA @ (4) 3 & @

(2) milk industry
(4) bakery

(1) 9% ST 9| (2) g SErT A

) R 9T ¥ (4) aEd |

Spirullina used in astronaut food is :

(1) bacteria (2) blue green algae (3) fungus (4) virus

sidfRer arft & Ao d UgE FgH e T
(1) <iram (2) Hren gRd dard

Simplest amino acid is :

(1) lysine (2) glycine
FRaan uEEr e @

(1) g (2) TETgHI

Eather of Green revolution in India is :
(1) M.S.Swaminathan

(3) Bernard

wd o s8R Fifa @ T &

(1) THo THo QAT

(3) FAIE

(9)

*
£

(3) ®dd (4) fawoy
(3) alanine (4) valine
(3) VA (4) d&H

(2) R.Kurien
(4) A.N. Chakraborty

(2) ¥Ro FHREA
(4) To Two ugHad

P. T
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18U/119/25(Set-1)

35.

36.

37.

38.

39.

40.

41.

Egg volk is vellow in colour due o :
(1) albumin (2) ovaalbumin (3) y-globin
areda® e & e T A dren g €

(1) AT @ (2) aarerea @ (3) TR-elen @

Lactose is made up of :

(4) myoglobin

(1) WA &

(1) glucose and glucose (2) glucose and [ructose
(3) glucose and galactose (4) glucose and sucrose
AT 9901 B
(1) @™ Td b 4§ (2) "B qA@ e |
(3) TE@IS Td Teiaes 9 (4) @ Td Gl A
Salt in a solution is called :
(1) Brine (2) Syrup (3) Gem (4) None of these
fdctus § H® @ G8l FIdl &
(1) arg= (2) fe=a (3) 9™ (4) 39 4§ &1 T8
What is 1SS of Jam ?
o3 BT SITAC TR 7
(1) 60 (2) 68.5 (3) 75 (4) 90
Cicler vinegar is made from :
(1) Apple (2) Banana (3) Grapes (4) Pinecapple
gk e gaar &
(1) 9 ¥ (2) @er 4 (3) SR W (4) 3=
The major locomotor structure in bacteria are :
(1) Flagella (2) Pili (3) Fimbriac (4) Cilia
Sarv) H Feayel g arl e #
(1) v (2) fach (3) Moy (4)
Fruit juice is spoiled by :
(1) Yeast and moulds (2) Clostridia
(3) Enterobacteria (4) Enterococci
(1) ¥Rz aon dieed @ (2) FafRefear &
(3) gREEART 4 (4) FRHS &
(10)

collegedunia
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42,

43.

44.

45.

46.

47.

18U/119/25(Set-1)

Which of the following microorganisms is used in beer making ?

(1) Yeast (2) Bacteria (3) Mold (4) Virus
et # & S- e Sfrare] dR @ 999 A ganT B a2

(1) dxe (2) i (3) AIeS (4) fammy
Lactose is :

(1) Monosaccharide (2) Disaccharide

(3) Oligosaccharide (4) Polysaccharide

AT B ¢

(1) AFARINES (2) TEAPUTS

(3) anferiiavEs (4) GRS

Which vitamin is absent in egg ?

(1) Vitamin A (2) Vitamin C (3) Vitamin D (4) Vitamin K
v ¥ -1 fRAefHa 4€ gar g ?

(1) faerfd= ¢ Q) flefa® (3 Reafm @ 4) faefam @

Agaris:
(1) Polypeptide  (2) Polysaccharide (3) Polyphenol  (4) Poplyflavone

TR &
(1) Gfeluerss 2) dieidswgs (3) dieldhaTd (4) diueirereH

Colorant used in butter is :

(1) Annato (2) Erythrosine
(3) Congo red (4) None of the above
waRae A g 0§ €
(1) =l (2) TRTEUEE
(3) &M VS (4) STRIET Bg A6
Which of the following is not found in all bacterial cells ?
(1) Cell membrane (2) A nucleoid
(3) Ribosomes (4) Capsule
S # § Fr—T W0 ofrarey PR § 7@ arE S 8 7
(1) sifdra e (2) ~yfewsige
(3) rEETErT (4) HoEE
(11) P.T.0.

collegedunia.
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48. Cereals are deficient in:

(1) Methionine  (2) Phenvlalanine (3) Valine (4) Tysine
ATH H Tl 9T I 8
(1) Mg (2) sRete™a  (3) 918w (4) <igRA

49. Which vitamin is known as "Sunshine Vitamin" ?
(1) Vitamin A (2) Vitamin C (3) Vitamin D (4) Vitamin E
fbes faerfa 31 "weemss Refs & w9 9 s o 8 ?
(1) faerf®a o (2) fqeiffq @t (3) fAofda & (4) Qefaw ¢

50. BMI stands for :

(1) Basal Metabolic Index (2) Body Mass Index
(3) High Content of Citric Acid (4) High Content of Antinutritional
[-:ﬂt‘ll}'ll‘

AIVHITE BT 3 B

(1) STER JUgaa Gaois (2) TR gomE s
(3) wsfew e 3 3 (4) Mavr IR B B e

ot. Inhuman mouth pH is
A & 2 @1 pH 81 2
(1) 3.5 (2) 3.6 (3) 7.1 (4) 94

92.  Benzoates can be used for the preservation of :

(1) Bread (2) Jam (3) Meal (4) Egg
d9Ne FT GAT B A s demn ¥ fean oar @ 2
(1) I (2) o (3) #Hiu (4) 3w

3. What s the strength of the brine solution for the canning of vegetables ?
wleat @ famd &g dgui-ue fRoma @) swa @ & 7
(1) 2% (2) 8% (3) 15% (4) 679,

(12)
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55.

56.

57.

58.

29.

18U/119/25(Set-1)

National Dairy Development Board (NDDB) was created in :

(1) 1965 (2) 1966
(3) 1967 (4) 1968
96 U STeuHT d18 (YHodiodlodl) &= T
(1) 1965 H (2) 1966 #
(3) 1967 # (4) 1968

Noodles originated in :

(1) China (2) Japan (3) Korea (4) Taiwan

TooH I Tef g%

(1) = ¥ (2) T A (3) Fifa (4) g

What acts as the preservatives in mango pickle ?

(1) Sall (2) Mango (3) Ol (4) Sodium benzoate

a1 @ amR § W - oRRelt & v A B ewar 8 7

(1) &9qur (2) 34 (3) del (4) Wiggw duge

Guava is rich in:

(1) Vitamin A (2) Vitamin C

(3) Vitamin K (4) Vitamin B

e WER A A U8 O @

(1) faefs vt (2) faeid= { ¢

(3) e[ & @ (4) Refm @ =

Myoglobin is :

(1) Protein (2) Lipid (3) Carbohydrate (4) Vitamin

HrEvefaT &

(1) 9réH (2) s (3) FEEEST (4) fer@=

Saffron is obtained from :

(1) Seed (2) Root (3) Fruit (4) Flower

R W BT 8

(1) &3 9 (2) W€ | (3) ®a (4) Hel 4
(13) PT.O.
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60.

61.

62.

63.

64.

65.

66.

The oxidation number of iron in the compound K,[Fe(CN),] is :
4 K, [Fe(CN),] 7 savs &1 iy 6= 8 -
(1) +6 (2) +4 (3) +3 (4) +2

The percentage of nitrogen in urea is about :
IRTT # TIETAT B AT T 2
(1) 38.4% (2) 46.6% (3) 59.1% (4) 61.3%

The number of neutrons in the nucleus of trittum is :

LI & IS W g @ e #

(1) 1 (2) 2 (3) 3 (4) 4
Which of the following metals form amphoteric oxide ?

(1) Fe (2) Cu (3) Zn (4) Ca
fr1 5 9 aF- arg ToeRE aifege aard 2 2

(1) 3a« (2) PR (3) foi® (4) By

The setting of plaster of paris takes place with :

(1) Loss of CO, (2) Hydrolysis (3) Hydration (4) Dehvdration
wIveR W% ARY @1 e g R ‘

(1) Fr-Tergaifanes & g & 9y (2) O 3UUeA F ¥y

(3) e & G (4) Fraeliamo @

[sotopes of an element have different number of :

(1) Electrons (2) Protons

(3) Neutrons (4} Protons and Flectrons

T @ wraE @ s g9 ad &

(1) gelagi= @ (2) Wt &

(3) =T @ (4) SICH V@ geragt @

Radioactive substance do not emit :

(1) Electron (2) Helium nucleus (3) Positron (4) Proton

et gael aeafita a8 avar &

(1) 3eegi (2) &ferm vas (3) aiftrets (4) W
(14)
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67. laundice is disease caused by :

(1) Bacterium (2) Virus (3) Protozoa (4) Fungus
Hfer ve wfqa A 2

(1) @] gr (2) fawry gw (3) W FR (4) B9F FT
68. Goitre is caused due to deficiency of :

(1) Iron (2) lodine (3) Calcium (4) Folic acid

oe & PR B 8 | |

(1) 3IARA & (2) IS @ (3) oo @ (4) ®fcre vl &

69. Diabetes mellitus 1s caused by

(1) bacteria (2) fungus

(3) hypo secretion of insulin (4) hypo secretion of glucagon
e AR FIRA €T R

(1) e g/ (2) 6 X

(3) s @ YA I R (4) THSTTH & A Iedvid gI¥l

70. Food poisoning is caused by :
(1) Entamoeba coli  (2) Salmonella (3) Giardia (4) Shigella
ot R HRa Bl 8
(1) Tcarlar st (2) @reriien (3) frsiefear (4) Rritein

71. Diseases caused by eating contaminated food is known as :

(1) Brights discase (2) Osteoporosis
(3) Minamata disease (4) None of these
g{fﬁamﬂﬁmﬁm’{gﬁmﬂmwwmé;
(1) s1ge AT & I H (2) AR & w9 4
(3) Prererer A0 @ w9 A (4) 378 3§ BF TE
72 ELISA test can't be used for detection of the following :
(1) Mycotoxins (2) Molds (3) Virion (4) Prion
q%wﬁﬁwaﬁﬁmﬁﬁﬁmﬁrwwnﬁa%%rqmaﬁﬁm AT 8 7
(1) mEFeifRE (2) AleS (3) fafRai (3) i
(15) P.T.O.
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73.

74.

75.

76.

Intermediate moisture foods contains moisture level of

(1) 0-15% by weight (2) 20-50% by weight
(2 40-60% by weight (4) 15-30% by weight
W AE W A HEAT B W Bl 8

(1) ¥R @1 (-15% (2) Hie @1 20-50"%
(3) ¥R @i 40-60% (4) ¥R @1 15-30%

The potatoes becomes yellow when cooked in alkaline water due Lo presence
of :

(1) Antlrucyanin (2) Polyphenols  (3) Tannins {(4) Flavenoids
3Te] W9 @9 el § UdTEn S § | dlell 8 S @

(1) TARETRE & HRY (2) uleldsitc & Heo

(3) =1 & BRI (4) FAAFIAE B HNYI

A metastatic cancerous tissue is termed "sarcoma’ if the disorder is in :

(1) Fibroblasts (2) Epithelial cells

(3) Immune system (4) Circulalory system

Herefed BT Sad B TG FEl Wi 2 afd e g 8

(1) FEFART # (2) wdrerteraa wifdrer %

(3) wfawen gonent ® (4) uRiTRu gorrel A

A health disorder that results from the deficiency of thyroxine in adults and
characterized by (i) a low metabolic rate, (i) increase in body weight and (ii1)
tendency to retain water in tissues 1s

(1) Cretinism (2) Hypothyroidism (3) Simple goilre  (4) Myxoedema
wWrey fder of e # onRifdaa & &0 Q4 B ® a0 (i) A augan o
(i) TR & go= ® gfy o (i) Fasl 3§ Od WOERT & @ ygfy o fome
HE Tl 2

(1) sfefHw (2) ERMATRIES  (3) AW U (4) ThfrgfenT

Carcinoma refers to :

(1) Malignant tumours of the skin or mucous membrane
(2) Benign tumours of the connective tissue

(3) Malignant tumours of the colon

(4) Malignant tumours of the connective tissue

(16)
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18U/119/25(Set-1)
BRI AT e ¥
(1) fﬂmmmﬂw(ﬂwam
(2) FAH AT BT YaRT TR

(3) €I BT IERA PR
(4) TR ST F1 s epR

Common cold is nol cured by antibiotics because it is :
(1) Caused by a Gram-negative bacterium

(2) Not an infectious disease

(3) Caused by a virus

(4) Caused by a Gram-positive bacterium

A & BT gorral ATIRREN g 8 g @ wifs 7w -
(1) wma-frifeg Staro] grr e 2

(2) WhIHG I 8 &

(3) fawmy grr @ @

(4) Tm-titafed Sframy gRr g @

Alzheimer discase in human is associated with the deficiency of -
(1) Gamma aminobutyric acid (GABA) ‘

(2) Dopamine

(3) Glutamic acid

(4) Acetylcholine

HAa § FoullgHR I <LaT 3 Hag 8

(1) 7w wiEEafeRs vfis (i)

(2) STUHIEA

(3) ciHE qRTS

(4) TACEADIEA

Suspension of atlenuated pathogen that stimulates antibody formation is :
(1) Antitoxin (2) Vaccine (3) Antibiotic (4) Serum

apd WrerHe &1 Fenga @t IufaRed Pt & sEa avar &
(1) EeiftRm &8 (2) a0+ & (3) TREmfes & (4) dkE 2

Which of the following disease is caused by virus and transmitted by
mosquito ?

(1) Plague (2) Typhus (3) Yellow fever (4) Filariasis
fret 3 @ dIH-a1 A9 QU] g7 grr @ den 9esY gRT weRd g @ 7
(1) tefa (2) 23wy (3) g W (4) WA
(17) P.T.O.
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82. Use of anti-histamines and steroids give a quick relief from

(1) Headache  (2) Allergy (3) Nausca (4) Cough

U -Reerga qur wyue & w9 ¥y wEa e 2 -

(1) Riked 9 (2) Cerdl & (3) Much (4) Wi <
83. Which of the following diseases is due Lo an allergic reaction ?

(1) Enteric fever (2) Hay fever (3) Skin cancer (4 Guitte

91 % ¥ ®=-91 I07 ot AOHETT & R EEE ¢

(1) 3= W (2) WRITH waR (3) 9T H (4) =T
84. Which of the following is a pair of viral discascs ?

(1) Typhoid, Tuberculosis (2) Ringworm, AIDS

(3) Common Cold, AIDS (4) Dysentery, Common Cold

e 3 9 l= R Qo &1 g 8 2

(1) ergwige. aufes (2) <T8, V¥

(3) WER EH, T (4) ofay, awFT FHH

85. Norman Borlaug the Father of Green Revolution” has developed a highly
recognized and appreciated cultivating variety of : '

(1) Wheat (2) Rice (3) Onion {4) Sugarcane

'R wif & Fwa A e 9 Ftd JF Gl  WEEE ad @ gl @

famfaa fFar -

(1) 7 B (2) =rEd @) (3) @ &l () T )
86. Selection of homozygous plant is :

(1) Mixed selection (2) Mass selection

(3) Pure line selection (4} None of these

THTH 1Y @1 99 §

(1) f&Fa au+ (2) 5G9

(3) € Tk 9 (4) &9 O BIF A
87.  An organism use as biofertilizer for raising soyabean crop is :

(1) Nostoc (2) Azotobacter

(3) Azospirillum (4) Rhizobium

G WHel BT 426 & 0 G 9 & B9 ¥ gaw ot #

(1) s eI (2) (,Pﬂmm—\'

(3) TeirRuERtm (4) EHfR

(18)
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18U/119/25(Set-1)

In tissue culture medium, the embryoids formed from pollen grains is due to :

(1) Double fertilization (2) Organogenesis

(3) Cellular totipotency (4) Test tube culture

Tt HIHT HeIH ¥ WO 9 A g9 it g @

(1) a7 e 3 FrRu (2) s & @R

(3) P qUiEETdl @ HRV (4) &< TgY WA F FRU
Haploid plantlets can be produced by :

(1) Embryo culture (2) Pollen culture

(3) Cotyledon culture ' (4) Meristem culture

o wiede # I fdar o wear # ¢

(1) Yo7 Hae= gw (2) TR HEE gwR

(3) droTa HEF gRI (4) fwsuios dadq gr
Somaclones are obtained by :

(1) Genetic engineering (2) Tissue culture

(3) Plant breeding (4) Irradiation

T urE fear o 2 |

(1) ST = gr (2) Had HIH ERI

(3) UTgY Yof=+ gNI (4) fafezor gm

"Jaya" and "Ratna" developed for green revolution in India are the varieties of :
(1) Bajra (2) Maize (3) Rice (4) Wheat
yRa ¥ gRa wifa &g [Aaie war gen = R E

(1) areT @I (2) #a@ B (3) WA B (4) IE B
The capacity to generate a whole plant from any cell /explants is called :

(1) Pluripotency (2) Cellcloning  (3) Tissue culture (4) Totipotency
) SHT / Taaeoe W WU 9T S HI DI SHAT BT Bel Wil E

¥

(1) qgTFIA 2) U g (3) THad G (4) gEivEE

(19 P.T.O.
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93. The first clinical gene therapy was given for treating :

(1) Rheumatoid arthritis (2) Chicken pox
(3) Diabetes mellitus (4) Adenosine deaminase deficiency
qEall e of PR frst sane @ farg @ R 7
(1) =ifean Srar ey (2) BYE AN
(3) FRIE HeeNd (4) TSRRTET SIoiEES |/l
94. Cry 1 endotoxins obtained from Bacillus thuringiensis are effective against :
(1) Flies (2) Mosquitoes
(3) Boll worms (4) Nematodes
dftyere GRS | W 373 1 TreleifTe B &
(1) 7ol & faeg (2) 7R @ favg
(3) MEw UK b Tog (4) AR & Rog
95. The catalviic efficiency of lwo different enzymes can be compared by the :
(1) Molecular size of the enzyme 2) The pH optimum value
(3) The Km value (4) Formation of the product
g1 fa=1 fa=1 ooirgw @ IR GET @) gaar B W AHhdl B
(1) TS @ SUdH ATHR GRI (2) 9Ivd geaH qF g
(3) ®UH HIF EINI (4) J@E & fmr gr

96. Example of a typical homopolysaccharide is :

(1) Insulin (2) Suberin (3) Lignin (4) Starch
giefis EHNAADUEE &1 ISR ¢
(1) z=gfer (2) waRA (3) feilFe (4) =7
97. Cell division cannot be stopped in which phase of the cell cycle ?
(1) Gy-phase (2) Go-phase
(3) S-phase (4) Prophase
T am & B TRo § ¥ fmes 51 e 98 G gEa § 7
(1) @-8R (2) AT
(3) TH-=RY (4) 9B
(20)

1 E
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98. If you are provided with root-tips of onion in your class and are asked to count
the chromosomes which of the following stages can you most conveniently
look into ? '

(1) Prophase (2) Anaphase (3) Telophase {(4) Metaphase

quﬁrmzﬁmﬁma%mgmmﬂmﬁmm%amm&wm
mﬁ%f&wwmméﬁmﬁﬁmﬂmaﬁmmmwﬁﬁm

g7
(1) 9B (2) T (3) e (4) HeTHW
99. Cells in Go phase of cell cycle :
(1) Exit cell cycle (2) Enter cell cycle
(3) Suspend cell cycle (4) Terminate cell cycle
BIRTHT g B Gy IR H BT
(1) FAom differ a5 2 (2) ven & v
(3) Fefrad sifr@ om 2 (4) WG HIHT TH 2
100. The first enzyme to be purified and crystallized was :
(1) Urease (2) Diastase (3) Insulin (4) Zyvmase
qeell (argd o1 fagE aur fbeeediga fvar o o
(1) gRew (2) srEveH (3) Ffer (4) g

101.  Select the related word/letters/number from the given alternatives :
Mughals : History : Rivers : ?
(1) Geography (2) Physics (3) Psychology (4) Biologv
e m Rawl 3 wElod ves /Rl / J@ &1 auq $ifer
UG s'%_[:ﬂ'—‘ - qfegt  ?
(1) *pme (2) Wit fas (3) wfasH (4) ¥ fasr

102. Select the related word/letters/number from the given alternatives :
ADH:ILP::GIN:?
(1) OVR (2) ORV (3) PVR (4) PWR
fed i e ¥ Faia e / 3erRl /A &1 g S
ADH:ILP::GIN:?
(1) OVR (2) ORV (3) PVR (4) PWR

(21) P.T.O.
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103.

104.

105.

106.

107.

108.

Select the related word /letters/number from the given alternatives:
WD :TF::TG:?

(1) QR (2) QI (3) 1Q (4} 1P

2 13 Ao | Galdd 7eg / &R/ TSI &1 9499 dI

WD TF: : 1G 7

(1) QR (2) QI (3) 1Q (4) IP

Select the related word/letters/number from the given alternatives :

Q:27::64:?

(1) 225 (2) 216 (3) 512 (4 324
29 T ATl ] Gaba we /R /@l &1 9uF B
92725647

(1) 225 (2) 216 (3) 512 () 324

Select the odd word /letters/number/number pair from the given alternatives

(1) Igloo (2) Den (3) Stables (4) Rock

@ T QAo ¥ Red e / MeRT/ FEI /[T P @1 AU Sy

(1) ¥ (2) (3) I (4) 3f®

Select the odd word/letters /number /number pair from the given alternatives :
(1) CUD (2} SiP (3) SET (4) NTR

Y T el ¥ RAum e/ 3eRi / G@0 /W@ A G g5 B

(1) CUD (2) SIP (3) SET (4) NTR

Select the odd word /letters/number /number pair from the given alternatives :

(1) 132 (2) 145 (3) 187 (4) 144
23y T fEl ¥ RAen e / 3eR / T/ G Y7 &1 77w BN
(1) 132 (2) 145 (3) 187 (1) 144

Select the odd word /letters/number/number pair from the given alternatives

(1) 361 (2) 289 (3) 225 (4) 216

oy M el | fQum s / 31&% /|8 / WEn ITH B B PpIFHY

(1) 361 (2) 289 (3] 28> (4) 216
(22)
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110.
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112.

113.

18U/119/25(Set-1)

A series is given with one term missing. Select the correct alternative from the
given ones that will complete the series

Ace, King, Queen, ?

(1) Jack (2) Club (3) Heart (4) Diamond

Th #0 B B 9 R @ 9y e 2| RA ™ 98 e @1 g dfrc
?ﬁﬁ-ﬂvﬂ?ﬁ‘iﬂﬂﬁ’"ﬂ:

a4, ATTIME, AT 7
(1) ™ (2) = (3) uH (4) <

A series is given with one term missing. Select the correct alternative from the
given ones that will complete the series :

BB, DZ, GW, KS, ?
(1) IK (2) 1G (3) PN 4) PS

UE At U @ TR @& 9 RE o 2 R ) 98 Rew &1 age it
Al Ao B GRT HRIT

BB, D7, GW, KS, ?
SYMNIN (2) 1G (3) PN (4) PS

A series is given with one term missing. Select the correct alternative from the
given ones that will complete the series :

HI, MN, RS, ?

(1) XY (2) WX (3) WY (4) WE

uE AN B ve Jd ve & 9y Rm o g RA M | Qe &1 wmm wt
St A @ Pl N

HI, MN, RS, ?

(1) XY (2) WX (3) WY (4) WE

When a number is increased by 24, it becomes 110% of itself. What is the
number ?

316 T AT BT 24 IEIT AT 8, Ug W& U 110% B SR 81w @l g
(1) 288 (2) 360 (3) 216 4) 240

Reduce 3596/4292 to lowest terms :
3596/4292 B TETH IS dd &l ST
() 29/37 (2) 17/43 (3) 31/37 (4) 19/23

(23) PT.O.
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114, A does 60% of a work in 15 days. He then calls B, and they together finish the
remaining work in 5 davs. How -h'mg B alone would take to do the whole work
(1) 25davs (2) 20 days (3) 80 davs (4 24 duvs
b e ot 15 R 1 dvar 8| THG ATE A¢ W B golal 8 R A i e

5\

Qi B B 5 RAT A U BRG E | I W B I EW WG @l R T

ST 7
(1) 25f (2) 20 (3) 80+ (1) 2477

115. If cot 60° + cosec 60° = x, then the value of x is :
72 cot 60° + cosec 60° = x, A x B 7 ¢ :
M) (1-242)/¥2 (2 (V3-4/2¥3  (3) 1 4 v 3

116. Two cars travel from city A to city B at a speed ol 42 and 60 Km/hr respectively.
If one car takes 2 hours lesser time than the other car for the journey, then the
distance between city A and city Bis:

(1) 336 km (2) 280 km (3) 420 km (4) 224 km

T BN A 42 TU1 60 fte /Hel B A A AW T AW W dE UE A 2
e TF FR A B W PR B AU 2 6l BN W TN 2, A TR F 07 TR
W drg B ga e

(1) 336 @& (2) 280 fad (3) 420 fmh (4) 224 i

117. A cone of radius 7 ¢em and height 12 cm is completely filled with water. This
water is emptied into an empty cvlindrical vessel of radius 3.5 em. What wil] be
the height of water in this vessel ?

(1) 16 ¢m (2) 32¢cm (3) 5.33¢m (4) Scm
Bromr 7 O den FEtE 12 O aren TP T@ T @ QI R G 81 39 9 @
B 35 O & el darerR ade # wiell H R @@ ) gw adw § o O

(1) 16w (2) 3290 (3) 5.33 % (4) 824
118. What is the length of the side of an equilateral triangle, if its area is 6473 sqem?
(1) 8cm (2) 16cm
(3) 16v3 cm (4) 8¥3cem
Us WE B[ @ o @ @R @ 8 aft Ul S35 6443 T Wit 8 ?
(1) 8T (2) 1699
(3) 16V3 9% (4) 83w
(24)
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119, A vendor buys pens at the rate of 4 for Rs. 5 and sells at the rate of 4 for Rs. 3.
What will be the resuit ?

(1) 40 percent gain (2) 66.6 percent loss
‘3) 66.66 percent gain (4) 40 percent loss

& Ao $o 57 4 & R R Faw wdam & dur o 3 F 4 W e § F9m B
TR0 @I g v

(1) 40 vtaeg o (2) 66.6 wied @ify
(3) 6h.66 AT o™ (4) 40 vioa sfx

120. Simple interest on a certain sum of money for 3 years at 18% per annum is half
the compound interest on Rs. 9000 for 2 years at 10% per annum. The sum
placed on simple interest is :

(1) Rs. 3500 (2) Rs.875
(3) Rs.1750 (4) Rs. 1400
18% 910 2 X 3 98 & oy e o9 & sfva o mifl w® auwe @ 100 i
o R 2 461 & U Bo 9000 W amgly = FT T ¥ | AR @ O W T

eIy 2
(1) %o 3500 (2) ®o 875
(3) %o 1750 (4) ¥o 1400
SECTION ~ Il
gug - ||

Language : English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answer to each question. Give the correct
choice as an answer.

Direction (Question No. 121 to 124) : Select the word nearest in meaning to the given
word

121.  Ambiguity
(1) godliness (2) doubt (3) clarity (4) wickedness

122. [Pioneer

(1} successor (2) foreigner (3) associate (4) forerunner

(25) P.T.0.
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123. Compassionate
(1) kind (2) reluctant (3) submissive (1) fortunate

124. Malign
(1) praise (2) execute (3) defame (4) resist
Direction (Question No. 125 to 128) : Choose the word opposite in meaning to the

given word

125. Marvellous

(1) common (2) delicate (3) harmful (4) amazing

126. Enigmatic
(1) delightful (2) gigantic (3) plain (4) zealous

127. Remunerale

(1) refresh (2) penalize (3) activate (4) bribe

128. Venom

(1) malice (2) result (3) risk (4) cure

Direction (Question No. 129 to 132) : Select the word which ¢an be substituted with
the given group of words

129. A person belween 80 and 89 years of age :
(1) centenarian (2) octogenarian

(3) septuagenarian (4) centurion

130. A remedy for all diseases :

{1} utopia (2) agoraphobia  (3) urticana (4) panacea

131. An eater of flesh :

(1) herbivore (2) carnivore (3) omnivore (4) mammal

132. A post for which no salary is paid :

(1) honorary (2) lucrative (3) substantial (4) adhoc

(26)

collegedumas

India’s largest Student Review Platform

—



18U/119/25(Set-1)

Direction (Question No. 133 to 136) : Choose the misspelled word from each group
given below :

133. (1) bankrupcy (2) benign (3) benevolent (4) bewitching
134. (1) rogue (2) robust (3) rotine (4) reign
135. (1) unequal (2) inequal (3) inequality (4) unequally

136. (1) incomplete (2} incompetence (3) uncomplete (4) incompatible

Direction (Question No. 137 to 140) : Fill in the blanks with the correct word :

137. Hisartof ...ooooo...... 1S remarkable.

(1) exposure (2) exponent (3) expiration (4) exposition
138: Hesat s me.

(1) beguile (2) beside (3) besides (4) benign
139. Heknowsthe.............. of taxation.

(1) canons (2) cannons (3) campus (4) campaign

140. He wasreleasedon ...............
(1) bale (2) ball (3) bell (4) bail
Direction (Question No. 141 to 143) : Fill in the blanks with the correct preposition :

18%. Hoaggreed. ....convinnen my proposal.

(1) with (2) to (3) at (4) on
142. He delivered the letter ............... hand.

(1) with (2) by (3) from (4) in
143. lie hankers ............... money.

(1} with (2) after (3) behind (4) at

Direction (Question No. 144 to 146) : Select the part of speech of the word
tunderlined) in the given sentence :

144.  The train was running very fast.
(1) noun (2) pronoun (3) adjective (4) adverb

(27) 1D
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145. He is very friendly with me.
(1) noun (2) verb (3) adjective (4) adverb

146. There is clarity in his speech.
{1) noun (2) verb (3) adjective (4) adverb

Direction (Question No. 147 to 150) : Fill in the blanks with the correct option :

147. Ram and Sita suffered alot, .............. ?

(1) did they (2) isn'tit (3) wasn'tit (4) didn’t they
148. He suggested me ..............

(1) to open an account (2) thatlshould open an account

(3) why I didn't open an account (4) opening a bank account
149. Baconand eggs .............. a good breakfast.

(1) make (2) have made (3) makes (4) are made
150. Either your studies or vour health .............. in danger.

(1) are (2) 1s (3) have been (4) were

SECTION -~ I
gug - i
et ¢ Rl
R 3% T ffial @ )

A - Fy=fafaa woat 8 (1) (2) (3) 21 (@) #41& & FR-FR dafcrs g gy 8
il & P18 0o 8 T &1 90 9B I @1 gl

151. @19 A Y g | 4 foreh sy & 2

(1) =rre fafy (2) aRer fefn
(3} A faf (4) @l faifd
152. T9RE § ) & F-p Fre @l widl € 7
(1) @ (2) WG (3) dETS (4) HfaN
163. 28 Raw wa w=mar o g 7
(1) 14 18 (2) 14 3 (3) 14 faas (4) 14 @R
(28 )
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155.

156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

P 0 B s ad A e A g & 7

(1) A= (2) fAa=x (3) AR
Bt 3 ¥ B ve g adh aen @ 7

(1) TR (2) s (3) e
(1) waf (2) guefa (3) gyl
e v BT UL W Tafia difu

(1) = + o (2) WIS + B (3) M+ 5
TE = T w2

(1) + g @ T+ @) T+
Rt @ S uw fbw s A st awar 2 2
(1) 37 (2) T =) B
= 8 e o & oot g e 2 2

(1) weR (2) TBR (3) srraEw

frefeifa % @ f5w o & wery @ gom @ 2

(1) W @2) TR L+ R

THAET AR W B TR AT & 2

(1) ¥erdivma (2) agey (3) Tgie

IFRIOT W § B GE T R ?

(1) Teges (ELBIREI o], o

(1) e @ 8T PL

TIRY B Yg THH AT B

(1) aromeht (2) TRORRN (3) aR™IY

ZIEE A BIA-E HEE B 7

1) B (2) aeges 3] vghie

Hgd &) N FhH — APNAd F1 TE I Tafyd S

(1) 38 &1 TORET  (2) T AT (3) T2 AT

AT AN B YA & R PeE B e 2 ?

(1) g (2) 31 Ll
(29)

18U/119/25(Set-1)

@) vérs

(4) HHa

(4) FER

(4) SR
(4) fa

(4) &8

(4) T

(4) aTRRY
(4) FHIRY
(4) B8 &T

(4) e

P.T.0.
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169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

180.

. o YA . ey
ars w2 P Tae Bl A @ § wd gd § — o J Br-dl dddR B
(1) &8 (2) Jq9E (3) QU (4) THb

aReERT Ty yuiRTd T @ el B § 7

(1) T (2) EE (3) deavad (1) fagn®
Aot fras o= 8 7
(1) gerdier (2) e (3) S (4) BHERETH
FFaR TAE o T ERER - T @ Y U@ TR Al gUT HifAy
(1) Tl (2) T (3) 3% (4) 7=
fre o #HH-4l 968 IMHTI BT gGIEIE) G888 ?
(1) T (2) @ (3) (4) T
(1) 3 (2) ALY (3) Aufie (4) efdpa
A2 w [ oo aur g ?
(1) &d (2) < (3) T (4) TEA
#a A IR = T dgear- grag D o v ud uE w78 ?
(1) Iepywr (2) HTHYY (3) foadm (4) TTeTEu
S B U R ST~ e @1 e 3o @ 8 7
(1) 3T 8191 (2) dgward &1 (3) Bad B (4) 439 B
e /9 @a-w e eife 2 ?
(1) BRI (2) qEu (3) Rar (4) uRRwg
A WeE ¥ 9949 arer ge faemer gaffa S
(1) wwea (2) arda (3) &g (4) #rdYE
TGS @ ¥ WTe — &9 &g B g 8 7
(1) gfemam (2) affe
(3) HarHEE A (4) TdvER TuEd wade

(30)
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10.

11.

12,

.2

14.

apafefat @ fog fdw
(g21 R B U LY TR Gl SoTHodRe Fih-ud &
arF-aree 09 1 8 [aa)

yeq qRaE fBrer @ 30 Fme @ oF@ € O ﬁﬂhmaﬁ%mﬁwﬂiaﬁ%wmfj
pel T8 2| QRE®T QNGE U G W I AN demd P Prited &1 Adi? eyl U
1 ) gRam o A |

et A A gReus @ e R @ el B ¥ el IS A | @)

i et e el et fEare)

OMR Qa0 a7 9 Ry war &1 g9 7 af 4h 3N g fFa &V ga% OMR S ot
R G BIF OMR Fvga &7 & geurew [Far sndi

Tov A @i el @ vt @ & /e are-ge O o feted |

nmw-ua%umquamﬂﬁﬁmmﬁafﬂawmwmamﬁﬁaqﬁ
ﬁwm&nmﬂmﬁmﬁaﬁmﬁﬁﬂmwma@nﬂemwaﬁﬁwﬂ
o ford |

allo UHo &R0 STR-UA W HYHATEH WA, Ue-gfadl el 4 Ge A @R P €) der
qe-qRasl R AgEED AW 3R 3o THo R0 dei-yA el @ wted! |{ uitems @
s T 2

gwda afaffeat ¥ ®1é ) uRada de Fhad g grrdrd @ Ry A g s
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